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—Maximizle =—0,0xy —Y,/Quy —MaximizeZ“: =—xy— Yoy
st. V,0xy + ¥ ,0xy < V4,0 st. V,0xy + ¥ ,0xy < V4,0
Yoy +Qxy < Yo Yzy +Qxy < Yo
Y, 0ry+0,0xy <Yo,0 Y,/ 0ry+0,0ry <Yo,0
°o/0xy+ Y,/ Qxy >Y,0 o0y + Y,/ 0zy > Y,0
zy+ Yoy > Y zy+ Yoy > Y
\0xy + Y, 0xy > Y,0 (Y) \, 0z + Y, 0xy > Y,0 Q)
YOy + o/0xy < Yo ,0 Y,/ 0xy+ o/0xy < Yo,0
Yry+azy < Yo Yry+xzy < Yo
Y, 0xy+ \,/0xy < Yo,0 Y, 0xy+ \,Qxy < Yo,0
—\V,0xy 4+ o Qxy > V) — V/0xy + o ,0xy >
—Yzy+aoy > V0 — Yoy +xy > V0
—Y,0xy+ Y/ 0xy > 14 — Y0z, + V/0xy > V19
Ty, Ty > © Ty, Ty = °
2y =Y/A, ay =0 2y =Y/A, xp =0
zZyr =Y, Z:T = VYA
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